Aptitude & Mental Ability

1. Match the following:
a) 13+6%+83
b) Value of ©
c) 45% of 60
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2.27
3.7

d) Radius of a circle whose  4.729

circumference is 44 cm

a b c d
a. 4 1 2 3
b. 1 4 2 3
c. 4 2 3 1
d. 3 1 4 2
a) 13+6%+83 1.2
b) Valueof © 2.27
c) 45% 4er 60 3.7
d) 44 cm s&hmeneyemL Wl 4.729
QUL L& &65T 471D
a b c d
a. 4 1 2 3
b. 1 4 2 3
c. 4 2 3 1
d. 3 1 4 2
Solution
(A)13+6%+8°  =1+216+512 =729

(B) Value of 7 = g
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(C) 45% of 60 = 27

(D) Radius of a circle whose circumference is 44 cm
Circumference = 2 rr

44=2mr, 44=2*Z*1

R=7

2. How many bricks will be required to construct a wall 8 m long, 6 m high and 22.5 cm
thick, it being given that each brick measures 25 cm x 11.25 cm x 6 cm.

a. 6400 b. 6300 c. 6200 d. 6500

(15 geuiflett [Herid 8L, 2 Wb 6 1S, SlpoesT (Sis6uid) 22.5 Q\&.15 1616 &6 QSMessTL&)|. QFFHeueny
sL(eusn@ 25 Q&5 x 11.25 @&.5. X 60&.15 i6meyssT Q&ML 615560687 QFmhIGH60S6IT
CaemeuliL(h&Hmg)?

a. 6400 b. 6300 c. 6200 d. 6500

Solution
1=8m=800cm
h=6m=600cm
b=22.5cm
volume of the wall=1bh
=800*600*22.5
=10800000 cm?
brick;
1=25cm, b=11.25cm, h=6cm
volume=1lbh
=25*11.25*%6
=1687.5 cm?

: lume of wall
therefore number of bricks = (————"—)

volume of 1 brick
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_ 10800000
1687.5

= 6400 bricks

therefore number of bricks is 6400

. Anumber is doubled and 9 is added. If the resultant is tribled, it becomes 75 what is that
number?

a.35 b.6 c.8 d. None of these

62(Ih 6T6vvTEEDNl6sT @(IH L MBIGL6T 9gal ly eU(HLD eflemL (LPLOWLBISNS WIHMLILILLTE 6(HLD
aflenL 75 eT6sfl6d D1 6T680T WIMG)?

a.3.5 b.6 c.8 d. s1g16yLSl6vemen

Solution
3(2x+9) =75
2x+9 = 25

x=8

. Find the value of J6 +V6+V6+ .

a.3 b. 2 c.4 d.1
\/6 + 6+ V6 + . 65T SILIMILIS SHT6T0TS

a.3 b.2 c.4 d.1
Solution

let x= vV6+v6+v6...
Squaring both sides, we get
x%=6+V6+V6+V6...

x%=6+x
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x?-x-6=0

x? -3X+2x-6=0

X(x-3)+2(x-3)=0

(x-3)(x+2)=0

x=-2,3

As v6+V6+V6... is positive

So, the value of v6+v6+v6... is 3

Prepared By www.winmeen.com

If - —y = Q; ; =b and Y2 = ¢, where a, b, ¢ are all non-zero numbers, then x equal to
2abc abc 2abc
" ac+bc—ab "ab+bc+ca "ab+ac-bc
XY =g X% o Yz _
prneiak: orys =b LDQ’)QJLD =c, omib a, b, c SpHlwiest LsUIDDHM 6T6TBTSH6IT 6Tevtl6d X —68T LoSLIL]
2abc abc 2abc
" ac+bc—ab "ab+bc+ca " ab+ac-bc
Solution
- 1s the same as —+ +1
x 'y

. 1
If XX =a we can write - +
x+y x

. 1 1 1
also rewrite == =bas- +-=- ...
xX+z X z b

add (1) and (2)
2,1,1.1,1
x y z a b
1 1 1

but we also know that —+ 5 <3
SO = + l = l + 1

c a b
2 _1 + 1 1 _ (bctac—ab)
x a c abc
SO X = 2abc

(bc+ac—ab)

Learning Leads To Ruling

Page 4 of 14



http://www.winmeen.com/

Aptitude & Mental Ability Prepared By www.winmeen.com

6. The sum of two numbers is 2490. If 6.5% of one number is equal to 8.5% of the other.
Then find the numbers

a. 989, 1501 b. 1011, 1479 c. 1401, 1089 d. 1411, 1079

@ eTevuTSerTl6tT Fa(hgHev 2490. ex(p erevoTevtil6tT 6.5% , WHE@DM(H 6eTevvrevvilest 8.5%M (& &Flowb
6T60fl60 B, ETELOTHEDIENE & MTEBOT.

a. 989, 1501 b. 1011, 1479 c. 1401, 1089 d. 1411, 1079

Solution

sum of two numbers=2490
X +y=2490

6.5x% + 8.5x% = 2490

1% = 2490

100

15% = 2490 * 100
X = 2490% =

= 166 *100

= 16600

1st number= 6.5%x

= %2 %16600

100

=1079

2nd number=8.5%x.

=22 %6600

100

= 1411

7. The least number of five digits which is exactly divisible by 12, 15 and 18 is
a. 10010 b. 10015 c. 10020 d. 10080

12,15 whHmib 18-246v eu@Gu(LD Bla&EAMIW obHlevs:s eTeser Wing,)?
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a. 10010 b. 10015 c. 10020 d. 10080

Solution

Take LCM of 12,15 and 18.

Factors are

12=2%2*3,

15=3*5,

18=2%3*3,

Their LCM=2*2*3*3*5

=180.

Because smallest 5 digits number is 10000.

Let us divide it by 180

then for a quotient 55 remainder is 100

if we add 80 to it then it will be completely divided by 180 with a quotient 56.
Therefore 180*56=10080

So smallest 5 digits number divisible by 12, 15, and 18 is 10080

8. LCM of two prime numbers x and y (x > y) is 161. Then the value of 3y — x is

a.-2 b.-1 c.1 d.2
X HMID ¥ (@@ X >Y) stedtm @ L&T sTesorsertlsor .G, 161 eTesflev 3y —x ebr WwlLIL
6T60TLIG)|

a.-2 b.-1 c.1 d. 2

Solution
H. C. F of two prime numbers is 1. Product of numbers =1x 161 = 161.
Let the numbers be a and b . Then, ab=161.

Now, co-primes with product 161 are (1, 161) and (7, 23).
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10.

Since x and y are prime numbers and x >y, we have x=23 and y=7.

Therefore, 3y-x=(3x7)-23 =-2

If 6 men working 8 hours per day and earn Rs. 8400 per week, then 9 men working 6
hours per day will earn per week:

a. Rs. 8,400 b. Rs. 9,450 c. Rs. 16,200 d. Rs, 16,800

6 Guj «(p mrevends@ 8 wewfl Gmob GCeusmev ©O&FLG, @@ aumMsHnE em. 8,400
gbund&sletrmentry. efesfled 9 Guf ep Bremend@ 6 wewsll Cmyb Geusmev GFWIF 6(H
auM&EH (& eTeueueTey FOUNSILILIMG?

a. Rs. 8,400 b. Rs. 9,450 c. Rs. 16,200 d. Rs, 16,800

Solution

6personx8hr 9person X6hr R
= =Rs. 9450
8400 Amount

Alternate method

Men Timing Earning
6 8 8400
9 6 ?
Men * Timing Earning
48 8400
54 X
46 \Emedel
54 X
X =9450
If% = % and 8a + 5b = 22, then the value of ais
a.> b.2 c.2 d.Z
4 2 7 9

% = Z mmib 8a + 5b = 22, etevflev a-6t1 WSILIL| &MevoTS.
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11.

a.l b.2 c.2 d.”
4 2 7 9

Solution

a_ 3

b 4

4a=3b

_ _3

—a—zb ........... (1)

8a+5b=22

Sub a value in the above eqn
8*(Cb)+ 5b =22

6b + 5b = 22

11b = 22

B=2

4a=3x2=6

N|W

=a=

o

Insert the missing number

7,26,63,124,215,342, _________

a. 481 b. 511 c. 391 d. 421
QanpssUuUlL Qs TLIl6y all(HLL L 6T655Ten 65018 &T6soTs.
7,26,63,124,215,342, _________

a. 481 b. 511 c. 391 d. 421

Solution

Numbers are (23-1),(3%-1),(43-1),(5%-1),(63-1), (7% -1) etc.

So, the next number is (82 - 1) = (512 - 1) = 511.

12.Ifa:b=3:2,b:c=3:4,c:d=2:3finda:b:cd
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13.

a.3:2:4:3 b.9:6:8:6 c.9:6:8:12 d. 3:6:8:12
a:b=3:2,b:c=3:4,c:d=2:3emeflev a:b:c:d e smesor

a.3:2:4:3 b.9:6:8:6 c.9:6:8:12 d. 3:6:8:12

Solution

AB=3:2

BC=3:4

CD=2:3

A is the product of all terms appearing under column (1).

A=3*3*2=18

B is the product of all terms under column (1) beginning from second row and term
under column (2) for all previous rows.

B=3%2%*2=12

C is the product of all terms under column (1) beginning from third row and terms under
column (2) for all previous rows.

C=2%2%*4=16

D is the product of all terms appearing under column (2).

D=2*4%*3=24

AB:CD=18:12:16:24 when we simplify 9:6:8:12

A pole 50 m high stands on a building 250m high to arm observer at a height of 300m,
the building and the pole subtend equal angles. The distance of the observer from the
top of the pole is

a.25m b. 50 m c.25V3 m d. 25V6m

(1 SLL 50 15 2 wiggHlev 250 1S 2 Win(LpsiTer 6(h SL oL S&60 Glosv 2 6ieng). 300 1S 2 wWidHHlev
2 6161 62(IH EBTIHERSHE NHS SWUWLW, SLllgl (WD GT Cry CaneriddHed QHSEHMGI. AHHBS
L6vfl&H 60T ETeUBU6TTEY GTTSHSI6L HBS SHLOLISS 60T 2 FlemwiLl LIMFLIT6DT.
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a.25m b.50 m c.25V3 m d. 25vV6m

Solution

50

250

Letop=x
In triangle poq
Tang =2
In triangle opr

Tan20 = 250 + 50

2tanf _ 300

1- tan?0 x

100 _ 300
_=_*(1_
X X

)%
3(1- ) =1
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14.

15.

5 _ 2500%3 _ 7500

2 2
x%=3750
x = 25vV6m

The radius of a circle is increased by 1% what is the increase percentage in its area?

a.1% b.11% c.2% d. 2.01%
Q(H UL L SH65T T 1% 2 W(HH MG Sieusul LEHetT 2 Wiibgl6Ten LiTLlienL 856155560 am?

a. 1% b.1.1% C.2% d. 2.01%

Solution

Let the radius of circle is R

so, area of circle, A = nR?

radius of circle is increased by 1%

so, new radius of circle,R'=R +1% of R = 1.01R

area of circle, A' = mR'?

= n(1.01R)? = 1.0201nR?

hence, percentage change in area of circle = change in area of circle/initial area of circle

x 100

- (1.0201mR? — nRZ)x 100

TR?

(0.0201) =X x100

=2.01%

If 15% of 40 is greater than 25% of a number by 2. Then find the number
a.12 b. 16 c.24 d. 32

40-6t1 15%, 6(Th eTevoTevDilent 25% &3 aflL 2 2i1&\&10n8 2 6i6ng)| 6T6vfleb DB 6T650T60)65018 & M6BOT.

a.12 b. 16 c.24 d. 32
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Solution

Find 15% of 40

15% 0of 40 =0.15x40=6
Let x be the number
Find 25% of x:

25% of x = 0.25x

Solve x:

5% of 40 1s greater than 25% of a number by 2
6-025x=2
0.25x=6-2

0.25x=4

16. 4 men and 6 women can complete a work in 8 days, while 3 men and 7 women can
complete it in 10 days. In how many will 10 women complete it.

a.35 b. 40 c. 45 d. 50

(5 Ceusmeveml 4 oyevoT(Hs(EHLD, 6 ClLETEEEHL C&Fibe 8 BMLs6T CEWSDIgHeT, Gy
2185 Gouemevenrws 3 oy evo1HEHL, 7 GuessisEhd Csimbgl 10 BrissT Qewsmrser. 10
QuestTS6T WL (KD B Ceusneveniu 61856060 HMLG6ilev Q&g (WlplILIMT&6T

a. 35 b. 40 c. 45 d. 50
Solution

4Men + 6Women* 8Days = 32+ 48

3M + 7W x 10D = 30+70

32M - 30M = 2M

70W - 48W = 22
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17.

18.

2M = 22W * IM = % —11W

8

(AMX1IW)+6 = 50 * = = 40

. .V5+V3
Find the value: N
a.3+/15 b.4 +/15 c. 2+V/12 d. 4+/12
. . . 5+V3
&L BIEVIT. =~ =
a.3+/15 b.4 +/15 c. 2+V12 d. 4+/12
Solution
V5+V3 4 V5+v3
V5—v3 V5+V3

By formula = (a+b)? =a? + b? +2ab
And (a? — b? ) =(a+b)(a—Db)

(V5+v3)? _
WEr-gaE - arbvis

_ 5+35+_23\/E —a + bVis

=8+22\/E - a+byVis

=2+ I -a4pyT5
=4++15

Three numbers are in the Ratio 1:2 :3 and their H.C.F. is 12. Find the numbers.

a. 4,812 b. 5,10, 15 c. 10, 20, 30 d. 12, 24, 36

cpstTm| eTevETa6T 1 2 1 3 etettn eflflgSHH60 SiemiobgieTenest. Seupnilest L5.CLm.eu 12 eTentled
SIHG 6163015601618 &IT65518.

a.4,8,12 b. 5,10, 15 c. 10, 20, 30 d. 12, 24, 36
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19.

Solution

Since, the numbers are given in the form of ratio that means their common factors have
been cancelled.

Each one's common factor is HCF.

And here HCF =12,

hence, the numbers are 12, 24 and 36.

Alternate Method

Let the numbers be x, 2x and 3x.

The HCF in x, 2x and 3x is x because 1, 2, 3 are prime.
Hence,

X = 12; then the other numbers are 24 and 36.

A cubical tank can hold 27,000 litres of water. Find the dimension of its side (in metres)
a.27m b.9m c.3m d. 6bm

QU o1& FgIT eulpe Bis Gsmlpullest Qametememey 27,000 eSILL 6Testled DH6edT LGS
6Memeuds Simevor (LOLLifl6v).

a.27m b.9m c.3m d. bm

Solution

Volume of tank = 27000 litres = 27 m?
Volume of cube= a®

27 = a3

a=3m
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